scanf ("%d", <num):

checkstatus (num, digits, & digits, sreverse):
Printf ("The number of digits in the number is: %d\n", numofdigits) :,

S Printf ("The summation of digits of the number is: $d\n", sumofdigits):
- 4 Printf("The reverse of the number is%d\n”, reverse):
3 return 0:
4 %)
5 _Void checkstatus (int num,
6

P

int ‘numofdigits, int *sumofdigits, int *reverse)
*numofdigits = o:
*sumofdigits =0:
*reverse =0;
while (num'=0)
{
int digit= num$i0;
* (numofdigits) ++;
*sumofdigits= *sumofdigits+digit:
*reverse = *“reverse *10 + digic;

num = pum /10;
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